
2 

3 

4 

6 

7 

11 

12 

13 

14 

15 

16 

17 
18 

19 

True 

Time: 3:00 Hrs 

d) None of these 
c) 15 25 -5 

b) mEonpu 
ALTER TABLE 
c) Packet 

b) L +=3 

KENDRIYA VDYALAYA SANGATHAN 
BENGALURU 

REGION 

FIRST PRE BOARD I EXAMINATION 
2023-24 

d) Statements 
c) Values must be imnmutable 
a) 30-40-50 

a) fp.seek(2, 1) 
b) 100 # 10 

a) readline() 
False 
a) Rows 
b) fetchrows() 

(c) 

and 3 

(b) 

for A 

017 and 18 are ASSERTION AND REASONING based 

(c) A is True but R is False 
(d) A is false but R is True 

SECTON -A 

questions. Mark the correct choice as (a) Both A andR are true and R is the correct explanation for A (b) Both A and R are true andR is not the correct explanation 

Circuit Switching 
Physical link must be 
cstablishcd irst. 

MARKING SCHEME 

Answer 

Subject: Computer Science (083) 

It is ideal for voice 

A uniform path is 
followed throughout the 
sessio. 

f-2023-24 

SECTION - B 

Packet Switching 
Works on storc and 
forward 

There is no unitorm path 
that is followed end to 
end through the session 
li is Used minly for data 

Page I of 6 

Maximum Marks: 70 

Distribution of marks 

mark for corTCCt answer 

I mark for correct answer 

mark for corrcct answer 

1 mark for correct answer 

mark for correct answer 

mark for correct answer 

1 mark for correct answer 

1 mark for correct answer 

1 mark for correct answer 

1 mark for correct answer 

1 mark for correct answer 

mark for correct answer 

1 mark for correct answer 

1 mark for correct answer 
1 mark for correct answer 

I mark each fOr any two correct differences 

Total 
Marks 

1 

1 

2 

mark for corect answer 



21 

Similarities 

23 

Both arc used to develop web pages 

26 

Pre defined tagS can be used in both Dtferences 

wcb pages 
New fags can be defined in XMI 20 D dict) 

HTML is used 1o develop static wcb pages, XML for dynamic 

while c <5: 

print(D.popitem0) 
for a,b in D.items): 

I:900 

22 (a) 1 

k= input(�Name: ) 
V= int(input(�Age: ) 

DÊkl = V 

2:2200 

4600 

Write the output of the following code: 

3:3600 

Iransmission 

print(a, b) 

OR 

(b) ['AJAY", 'A] 

(i) PPP- Point to Point Protocol 
(ii) SMTP - Simple Mail Transfer Protocol 
(iii) VolP � Voice over Internet Protocol 
(iv) TCP/IP � Transmission Control Protocol / Internet Protocgl 

24 (i) Primary Key - Attribute or combination of attributes that 
uniquely identifies the rows. 

W @ 50 
e #20 

(ii) Foreign Key- Non key attributes that derive its values from 

the Primary Key/Unique key of another table 
25 A rule or a check that is applicable one of more columns. 

NOT NULL, PRIMARY KEY, UNIQUE, DEFAULT 

(Explanation of. any two constraints) 

SECTION -C 

Page 2 of6 

Imark for onc 
Corrcct 

Sinnilarity. I 
mark for any 

one corrcct d1fference 

½ mark for cach 

corrcction made 

½ mark for cach correct 

line of output 

1 mark for correct output 

1 mark for correct output 

½ mark for each correct 
full formn 

1 mark each for correct explanation 

1 mark for the definition. V mark each for any two constraints. 
1 mark cach ior COrrect line of output 

2 
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wh
ile 

On
lyA

 !=
 

: 

prin
t(On

lyA.
pop(

), end=" 
")

 els
e: 

def 
PO

PA
(O

nly
A)

: 
ifO

nly
A =

-
[): 

pri
nt(

'EM
PT

Y'
) 

(ii) 

if'
A

' in
 

na
me

: 

On
lyA

.ap
pen

d(n
am

e) 

for 

nam
e in

 
N

: def 
PU

SH
(N

): On
lyA

 =
0 

'H
AR

KI
RA

T]
 

N
=

 30
 

()
 (ii1

) 

AL
TE

R 

TA
BL

E 

TR
AI

NE
R ADD

 

PR
IM

AR
Y KEY (TI
D) 

fu
nc

tio
n 

1 

ma
rks for 

eac
h 3 

CIT
Y 

=
 

BO
M

BA
Y'

; 
(ii) 

UP
DA

TE
 

TR
AI

NE
R SET CIT
Y 

=
 

M
UM

BA
I' 

WH
ER

E W
HE

RE
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RE

DA
TE

 

LIK
E 

20
00

%
; 

29
 

()) 
SE

LE
CT

 

TN
AM

E, 

CIT
Y, 

HI
RE

DA
TE

 

FRO
M 

TR
AIN

ER
 

qu
ery

 
1 

mar
k for eac
h 

co
rre

ct 

No
te: Any 

oth
er 

co
rre

ct 

log
ic may 

be
 

ma
rke

d pr
int

("T
ota

l 

wo
rds

 

wh
ich

 

end
s with 

vo
we

l=
,co

un
t) ou

tpu
t. 

fil
.cl

os
e(

) 

½
 

mark
 for 

disp
layi

ng the Co
unt

 
t=|

 and 
if

 
sta

tem
en

t 

if
 

w[-
1] in

 
'ae

iou
AE

IO
U:

 

I 
mark

 for 
corr

ect loop
 for 

w
 

in
 

wo
rd

s: 

read
ing data

 Co
un

t =
0 ½

 
mark

 for 

corr
ectly

 wo
rds 

da
ta

.sp
lit

) file 

dat
a 

=
 

fil
.re

ad
) 

fil =
 

op
en

('A
R

TI
C

LE
.T

X
T'

,r)
 

openi
ng and 

closi
ng the 

28
 

I 
mark for 

corre
ctly Sta

ple
r 

Min
i TOT

 A
L

 
30

00
00

 

ITE
M 

%
tap

%
; 

) 20
15

-0
3-

12
 

M
A

X
(T

D
A

TE
) 

in) 
WH

ERE
 

PR
IC

E 

BE
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N 

100
0 

AND
 

140
0: 

SE
LE

CT
 M

 
M

AX
(T

DA
TE

) 

FRO
M 

PRO
DU

CTS
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CO
UN

T(
TD

AT
E)

 

PROD
UCTS

: outpu
t 

I mark for cach correct
 I)S W

e 
[A

NK
IT

A"
, 

NI
TIS

H,
 

'AN
W

AR
', 

DIM
PL

E, 

PR
OD

UC
TS

 

W
HE

RE
 

QTY
 >

 
200 AND
 

ITE
M LIK
E SE

LE
CT

 

IT
EM

, 

QT
Y*

*PR
ICE

 FROM A
S 

TO
TA

L 

SE
LE

CT
 

CO
UN

T(
TD

AT
E)

 
FRO

M 



4 

I mark for writing the data 
data into dictionary 

½ mark for reading the 
closing the file 

2 mark for opening and 

½ mark for printing data 
total 

V½ mark for calculating 
Va mark for reader objcct 

closing file 
½ mark for opening and 

½ mark for writing row closing file 
I mark for opening and correctly 
½ mark for accepting data 

query 
Imark for cach correct 

FROM 

Page 4 of 6 
Pice = float(input('Enter 

product price :)) pname = input('Enter 
produt name :) 

pid = int(input('Enter 
product ID :) biil = open('PRODUCTS.DAT,ab') 

OR 

AVG(AGE) 

D=} 

def appendData(): 

print("Total cost =,total) 

import pickle 

fil.close() 
total = total + int(x[3|) 

for x in data: 
total = 0 

print(data[0]) 
data = list(cr) 

fil = open('Books.csv', r) 
Cr = csv.reader(fill) 

GENDER, 

data = [bid, title, author, price] headings =['BookID'"Title;Author,; Price] 

SECTION -D 

def TotalCost(): 

fil.ciosc0 
cw.writerow(data) 

CW =csv.writer(fil) 

float(input('Enter price :') 
author = 

input(Enter author name :) 
int(input('Enter book ID :) title = 

input(Enter book title :') 

(ii) 

price 

SELECT 
DISTINCT START FROM TRAINS; 

SELET * 

FROM TRAINS ORDER 
BY TNO; 

(i) 

fil = 

open('Books.csv'"a ,newline=") bid 
def AddBook(): 

mpor csv 

(i) 
(iv) 

(i) GROUP BY GENDER: 
PASSENGERS 

SELET 

SELECT PNA AME, 

TRAVELDATE, 
TNAMI. 

FROM P/ 

ASSENGERS P. 

WHERE P.INO-TNO: 
(i1) 

31 0) 

POPA(Only A) 

32 

PUSUtNy 

.TRAINS T 



100 

Lcon 

012@ 

maii i 

2 correct difierences 
I mark each for any two 

answer 

mark for each corTecI 

dictionary 
½ mark 

tfor printung 
the 

product ID 

% mark 
for comparing record 

½ mark 
for 

reading 
lhc 

closing the file 

½ mark 
for 

opening 

and 

Page 5 of5 

er at the end by default. 
Places 

Used for append1ng data 
file ponter 

'a' mode 

Unit 

beginning by default 

file Places ponter at the 
Used for writing data 

Radiology 

Network Cable: Ethernet Cable 

Unit 
Neurology 

Officc 

'wmode 

WAN 

Topologies: Star Topology 
(b) Hub/Switch - In all units/office Radiology unit 

Repeater - Between Administrative office and 

Administrative| 

SECTION -E 

Unit 

ENT 

bfil.close() 

will increase the network efficiency and reduce the netwo traffic. 

requires maximum number of computers, plac1ng 
server here Server must be placed in Administrative Office, as it 

if D[|PID'}product id: print(D) D - pickle.load(bfil) 
while True: open('PRODUCTS.DATTb) 
except: 

(v) 

(iv) 

try: 

(i) 

bfil 

(a) 
(iii) 

DTN. AME] pname 
bfil.close() pickle.dump(D, bly DPRI|price 

() 

def findProduct(product idy: 

() 

(1) 

33 

34 



using commit() 
½ mark for correctly 

executing the qucry 
1 ½ mark for correctly 

accepting the input 
½ mark for correctly 

connect() 

l mark for correct 
Correct module 

½ mark tor importing 

definition 

I mark 
for corTCCI 

file 

list 
5 mark 

for 
closIng 
thc 

pricc 
mark 

or printing 

he 
record 

% mark 
for 

comparing 

MA 

file 

3 mark 
for 

readiing 

th 

5 mark 
for 

trv 
and 

excepi 
b mark 

for 
opcnin 

the 
Whe 

passwd-tiger', 

dsusaf 'INSERT INTO STUDENT VALUES(%s, %s, %s, %s): 

dt = input('Enter date of joining YYYY-MM-DD:) 

CINEN paran Write Type 
A file Partic 

con.close() 

Write 

con.commit() 
mcur.eXecute(qry, val). 

user='root!, 

Wval =(sid, sn, dt, sal) 

Sn = input("'Enter staff member name:) 

sid = int(input('Enter Staff ID:) 
mcur = Con.cursor() database-COMPANY) ms.connect(host-localhost' 

35 ()) Total 

as Degree of a 

con = 
import mysql.connector as ms 

number of 
columns/ Attributes is known 

bfil.closc) 
CXcept: print(L) if L{3|> 1S00: pickle. load(bfil) 

L 
while True: 

open('F ASHIONDATH) 
table. 

try 
bfile 

) 

del s scarchtashion(cost): 
mport piCkle 
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